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Translation in English

Sub: History of Japan (HC- 403)

Instructions: Attempt all questions.

Q.1.  Answer in detail (Any Two) (40)
1. Take review of various reforms during Meiji period.
2. Take review of (a) 1890 to 1895 (b) 1896 to 1900, the two stages of Jenro period.
3. In context of Washington conference, explain the foreign policy of party government
in Japan.
4. Write the information about the military imperialism in Japan with the help of
following points —
(a) MarcoPolo Bridge incidence
(b) Concept of area of mutual development

(c) Tripartiate treaty

Answer in brief (Any Three) (30)
Write the information about Japan in Shogun Period.

Explain why did Party Government fail in Japan.

Write the information about Kato Cabinet and VakaTsuki Cabinet.

Explain the nationalist Philosophy behind the military imperialism in Japan.
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Write the information about the dominance of America over Japan and peace treaty

with Japan.

Write short notes. (Any Two) (30)
Renunciation of Japanese aloofness
The treaty of Portsmouth & consequences of Russo-Japanese War

Manchuria Episode
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Japan’s attack on Pearl Harbour & defeat in 2" World War.
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